t(l,theta=0..2*Pi,z=-1..1);

(y)*2 -1)/3;

. Pi, styl e=PATCH, col or

t(f, x=0..2*Pi,y=-Pi

t([z*theta,theta, cos(z”2)],theta=0..Pi,z=-2..2, color
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=> resta
| > wi th(

> cylin

f .=

cylin

cylin

e e
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> with(plottools):
> icecream =cone([0,0,-1], col or=yell ow), sphere([0,0,0.1], 0.8,
| color=red):

> plots[display](icecreamstyle=patch, orientation=[128, 76]);




> sphereplot(1,theta=0..2*Pi, phi=0..Pi);

sphereplot((1.3)"z * sin(theta),z=-1..2*Pi,theta=0..Pi,style=
pat ch, col or=z);
spherepl ot ((5*cos(y)”2 -1)/2,x=0..Pi,y=-Pi..Pi,styl e=PATCH);










> tubeplot([cos(t),sin(t),0],t=0..2*Pi,radi us=0.5);
t ubepl ot ([cos(t),sin(t),0,t=Pi..2*Pi,radius=0.25*(t-Pi)]);
tubeplot([3*sin(t),t,3*cos(t)],t=-3*Pi..4*Pi,radi us=1.2+sin(t),
nunpoi nt s=80) ;
tubeplot([sin(t),t,exp(t)],t=-1..1,radius=cos(t),tubepoints=20);
tubeplot( [ -10*cos(t) - 2*cos(5*t) + 15*sin(2*t),

-15*cos(2*t) + 10*sin(t) - 2*sin(5*t),
10*cos(3*t) ], t=0..2*Pi,radi us=3*cos(t*Pi/3));
















_> pl ot 3d([ x*cos(s), exp(x), x*sin(s)],x=-2..2,s=0..2*Pi, axes=
nor mal , styl e=wi r ef r ane, col or =bl ack) ;




2..2,s=0..2*Pi, axes

> plot3d([x, exp(x)*cos(s), exp(x)*sin(s)], x

bl ack) ;

=wi r ef rame, col or =

normal , styl e




_> pl ot 3d([ x, x*si n(x) *cos(s), x*sin(x)*sin(s)],x=0..4*Pi,s=0..2*Pi ,
axes=nor mal ) ;




_>»f:=(x,y)->(-x*y“2)/(x“2+y“2);

2
f=(ny) = -5
x2+y2
(> f(1/2,1);
_2
5
_>»Linit(f(x,y),{x:1/2,y:1}):linit(f(x,y),{x:1/2,y:1});
2
o Xy [ 22
Lzmzt( x2+y2,{x 2,y 1}) 5

=>»Limt(f(x,y),{x:1/2,y:infinity}):limt(f(x,y),{x:1/2,y:infinity}
)

xy2 1 1
Limit| - ,{x=,y=00}j=—
[ x2+y2 2 2

[ > plot3d(f(x,y),x=-0.1..0.1,y=-0.1..0. 1)




(> Limit(f(x, nx), {x=0})=linit(f(x,nx),{x=0}):
3 2

Limit( -

_> g: =(X,y)->(x"2xy"2) [ (x"2+y"2);
2.2

g=(xy)—
xz-l-y2

[ > plot3d(g(x,y),x=-0.1..0.1,y=-0.1..0. 1)




Limit(g(x, msqrt(x)),{x=0})=linmt(g(x,ntx),{x=0});
3 2
Limit( S ,{x=0}]=0
X +mx

Dff(f(x,y),x,y)=diff(f(x,y),x,y);

0> ( xzy2 ]: 4xy 4xy3 _ 4x3y n 8x3y3
voldet ) At @) ()T (P
Dff(f(x,y),x)=diff(f(x,y),Xx);
) xzyz B 2xyz 2x3y2
& (x2+y2 ) a P 4y N (2 +57)
Diff(f(x,y),x$2)=diff(f(x,y),x$2);
> [ x2y2 J= 2y2 _ IO)czy2 i 8x4y2
a2 | 2+)7 # +9P (x2+y2)2 (x2+y2)3

O 1,2](f);

3

2




Y P (P )
> D[ 1%$2] (f);
2y2 lezy2 8x4y2
Ay ()T YY)
> D1](f);

2xy2 _ 2x3y2
2 2
Xty (x* +)7)

(x, y) = 7

=> h: =0 1$2, 2$3] (f);

4yx 4x3y _ 4xy3 n 8x3y3
2, 23
(x*+7)

B (ey) Y 480x°y  576x"y N 144" 2160x°)°

=W 2 3 4 3 4
(% +57) (x* +57) (¥ +57) (% +57) (x* +57)
N 3456 X1y 96 N 1920x°)°  3840x")°

5 4 5 6
(x* +57) (x* +57) (x* +57) (x* +57)

(> h(1,1):
-3




